[image: image1.png]5. Let the degrees of the polynomials
P@=ag+az+ a4+ - +a," (a, #0)
and
Q@) =by+biz+by22+ - +b,7" (b, #0)

be such that m > n + 2. Use the theorem in Se¢. 64 to show that if all of the zeros of
Q(z) are interior to a simple closed contour C, then

P(z)
c Q)

dz=0.

[Compare Exercise 3(b).]




(You don’t have to compare them seriously. Please give some explanation making sense.)
The Theorem in Sec. 64:

[image: image2.png]Theorem. If afunction f is analytic everywhere in the finite plane except for a finite
number of singular points interior to a positively oriented simple closed contour C,

then
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Exercise 3(b):(You don’t need to solve this.)

[image: image3.png]3. Use the theorem in Sec. 64, involving a single residue, to evaluate the integral of each of
these functions around the circle |z| = 2 in the positive sense:
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